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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify the correct equation from the following : 1
(A)  GDPyp = NNPpc + Depreciation

(B) NDPpc = NNPyc + Net Indirect Taxes

(C) GNPpyp = GDPyp + Net Factor Income from Abroad

(D) NNPFC = NDPMP + Depreciation
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3. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.
Reason (R): Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

4. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a net selling off worth ¥ 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
oth May, 2023 — 9th June, 2023.”

The above mentioned transactions will be recorded on side of
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital
(C) Credit, Current (D) Debit, Capital

5. Identify the incorrect feature(s) of money supply (M;) from the
following : 1
(1) It is measured at a point of time.

(i1) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (i) only (D) (iii) only
6. Total consumption expenditure by households under Keynesian
Economics is a combination of and

Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption
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7. W (sl hl TgaH HINT I gl {aehed T T hITIT,
T STHT | T (80%) STRIETT 39T
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II 4000 (id).. 800
DA | (). .(iv).. 5000
ICETIE
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
8.  TaW Hqe (BOP) H 31 o1 aread
(A) TR T | SR PaE
(B) TR WItqdl WX =Te @Wral Yam
(C) STt @rar YA R YSi @rar yieas
(D) T YAaH W &R Jiiai
9. Tordlt wreufie Aearen & forw am wfifse <6
C =100 + 0-75Y (S&f C = 3U4 9 Y = 379)
Iy = 400 (I, = T famT)
73 ek (K) 1 94 B |
(Th o &t WA & fore o) faeshed 1 =am Fifso)
A 5 B) 4
C 6 (D) 3
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7. Find the missing figures and choose the correct alternative :
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 .(1)..
IT 4000 (11).. 800
Total .(iii).. .(iv).. 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

8. Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1
(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments
(D)  Autonomous receipts over Autonomous payments
9. Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
I, =400 (I = Autonomous Investment)
Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1
A 5 (B) 4
C) 6 (D) 3
11-58/1/1 P.T.O.
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10. Suppose, the Balance of Trade of an imaginary economy shows a

favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.

(A)
(B)
(C)
(D)

11. (a)

(b)

11-58/1/1

(Choose the correct alternative to fill in the blank) 1
1700
750
700
900

On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPFC) . 3
S. No. Items .Amount
(in < crore)
(i) Gross Domestic Fixed Capital
: 200
Formation
(i1) Exports 50
(iii) | Government Final Consumption
: 320
Expenditure
(iv) | Consumption of Fixed Capital 35
V) Household Final Consumption
) 470
Expenditure
(vi) | Inventory Investment (Net) () 40
(vii) | Imports 60
(viil) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20
OR
i) Elaborate the concept of Externalities with the help of
suitable example. 2
(ii)  Define Operating Surplus. 1

P.T.O.



12.

13.

14.

15.
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12.

13.

14.

15.

11-58/1/1

Distinguish between fixed exchange rate system and flexible exchange

rate system.

(a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income.

Income (Y)
(in < crore)

Savings
(in < crore)

Average Propensity
to Consume (APC)

Marginal Propensity
to Save (MPS)

0

(=) 30

100

1

200

0-85

300

0-8

(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”

Explain its impact on the level of output, income and employment.

Justify the following statements with valid arguments :

(a) The Central Bank is the sole currency issuing authority of an
economy.

(b)  Money serves as a measure of standard of deferred payments.

Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6:5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text.

(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.

Page 11
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16. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i) Interest received on loan. 2
(i1) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) @A) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

(D Transport 2
(I)  Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
(b) (1) Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. 2
Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 b(i).

Explain the stabilisation function of the Government Budget. 4

17. (a) Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/1 Page 13 P.T.O.
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SECTION B
Indian Economic Development

18. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and

international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1

(A)  Medical infrastructure
(B)  Consumer goods
(C)  Capital goods

(D)  Foreign trade

11-58/1/1 Page 15 P.T.O.
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21.

22,
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Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C)  Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R): It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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HE SATEA TE7T 2 |

(C) IR (A) TT 7, Wohd ST (R) 37T 7 |
(D) 3T (A) IHF B, Afehd R (R) T 7 |

24, ffaRad fashedi § 9, aFIHa SN IR & F@@ LWl &l 769 HiNT ;7
(i)  HhI hI I 3G T HaraH Yoo feaa & T fauwom yorett i
HIA F JHTST SHHT |
(i) YRl % T fouuM JHATE Sle H IR I FdicdTiad ST |
(iii)  SpWehl T ITOT TehT |
(iv) SRl I ITeh! 39S hi TUET F HET H IR A & [0 gdicdnza

ST |

%chrq :

(A) (1) 3R (i) (B) () A (i)

(C) (i) 3 (v) (D) (i) 3 (iv)

25. 9NA 9 UIfhEd™ H SHA: | aul o arifeleh gam @
fpu U 9 |
(Teh Tl 1 WA & T &t foehed &1 =@ hifSe) 1

(A) 1988, 1978 (B) 1991, 1978

(C) 1991, 1988 (D) 1981, 1991
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23. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has wused the market mechanism to create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24, Identify from the following alternatives the imcorrect objectives of

regulated agriculture market :

(1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

(ii) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (i) and (i) (B) (1) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

25. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(€)
11-58/1/1

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991
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26. THTIRId HHAT T HYES AT HIMT :

HI71 : T Taesl FE&0 e (NSSO) 5 SUSHRI i $89 YR qRUTG
fore 2 T o8 a7 o1ewen 2, o =afF om & 1@ & SRy fom
HM & @ Jd 8 Afehd 9 auifaa FFamst @ &M il aam = @
8 | 9 $m N uiafs &t i feufai & dga sm @ 6
TR /TS S<h Hid & |

FYT2 : NG S AAYH MEE] el TS H T=3d SIS AHAR WL
AT 7 |

feu U SeFT % AT H, HTdRad § 4 gal faeheq 1 ==H hifvie -

(A) e 19T g 3 HH 2 30 8 |

(B) I 137G 8 I FHIT 29T 3 |
(C) HIYT 13 2T T B |
(D) YA 1 3R 2 T 9T B |

27. UgaH Shifve s fafafaa @ & SH-81 G-20 1 957 U 787 2 :

(A) SISl

(B)  srreferan

(C) wdTeH

(D)  IFAT

28. (%) “Mufafies *@@ & CUF AEEMe @@ H Eded  Tdraiedr

fowmg & 17
FT MY U T o § & & ? 99 bl o A1 U I hl gfee
HIT |

AASAT

(@) 37 RO o foear @ gase e s i &3 o fenfie HAifa
Hehed, 1956 o d&d (a=aHd feram =T o |
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26. Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),

unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work wunder the prevailing

conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem

in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A)
(B)
()
(D)

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

27. Identify which of the following is not a member nation of G20 :

(A)
(B)
(©)
(D)

28. (a)

(b)

11-58/1/1

Brazil
Australia
Bangladesh

Argentina

“During the colonial period, the occupational structure showed
lopsided movements.”
Do you agree with the given statement ? Justify your answer with

valid arguments.

OR

Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956.
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29. “9ra #, U e Hifa 2020 ° et o Aarhel TN W TrcA{yd 5
&a.l.%l”

1)

(i1)

30. ()
(@)
31. (&)
(@)
11-58/1/1

I9YTh U | 3AIG AHa Yot AT (HCF) o @l hl 9gaH i |

TRA o T fImE W 39 9id o Gvifad J9Tdl bl foedr 9 samen
HIY |

“Gh TS % oTfde @ wHIiIeh Wl o fawmt 3 95 weha feum § TR
IR e 2023 & AIE § I o 70 Sew, fova &1 gam 1w
STEET 1T TS & T 8 |7

=9 g 1970 & Tk | YIS TS Tohod-STcAeh AIid o TRUMHT shl AT
T |

= 61 3T Hafg W oRIv 31idfe & (SEZ) % Y9l %1 == Hiig |

Y dohl g Ioi@ d AT shifort foh Fmfaad sem grg 2 a1 sra

(i) B ¥, YA SR A [oadfid S9el o $Huaad 3Eed & [og
SH-GF AT S8 s HEweul heH 33T 8 |

(i)  Afes — SEEN AU fopet s B TR st fefa =1 foveryor
0 o ToTT 3w fopan ST STeTT Uk Hohdeh @ |

AASAT

() Y9G 4 Afgen fBrem s Meanga s sl STEvdehdl hl sgredn
ity |

(i) RPN vEeR samm | fafadfie afafafim & el 3 e
1 Ied I |




29. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1)

(i1)

30. (a)
(b)
31. (a)
(b)
11-58/1/1

Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement.

Elaborate the likely impacts of this source on the economic

development of India.

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are ¢rue or

false, with valid arguments :

(i) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.

(i1))  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.
OR

(1) Elaborate the need to promote women’s education in India.

(i)  Mention any two examples of diversification activities in the

non-agro processing industries.
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32.

33.

34.

(%) Sifaek FiW % IREHH a1 & QL FYHI o THY 39 g Tl fheal al
FHEATST 1 Ieai@ hiT |
(@) “Gauam feufa ®, 9Ra S8 TS § @1 GRed I i H e SreEfieh]

Hewayul Yt fvrdt g 17
few o wuq 1 siifucy fag Fifse

(F) () “9Nd TR gRI 33T T IR0 ST o ATd, TENfiieh & 1
e 31ca Agwqul o |7
AT dohi g0 oW 70 oM ol e a1 G99 iy |
(i) “gfa spifd & s1g ft 1990 & TH T URA 1 65 JfawTa SIS
HN & | ot @ |7
e gepi g few U oM 1 St fag Fifse |

AT
@) () “R 5% % T B Td & — Y IUeH W 989 off W &
IS IR 7 17
PV JUGH TR TG o 94 T o9& § ¢1-gl dohl Aigd fGU 7T HA h
gfse i |
(ii) WA 3R AISHT o 3¢9 o &9 H “Gal o 1Y §glg % A
1 Ieoig HIT |

frfaTiea @ &1 e TerE HIT

WA § 9 q°1 9 TGOl 1 & THE i foanstt ¥ fued % fog
THR A 1974 H g Tquu1 2501 1€ (CPCB) sl €191 I | 366 18, U
T W i iy et @ fued & o oA 9 Ao Wi R | 3
&1 (CPCB) Sd1, a1 31N W YgWU ¥ Hald G137 ol Hehad 3 faawm
Hd & | 9 Her /AR FemmE 3T IcasH o A Huifid id 8 | 3 918 T
1 ST TGO b U™, 01 3R it & foie srar-ameti gra Afeal s pafi
HI Tl o 9 & AU qeheich] TERAT IGH HLd & | $Th1 B g hi
ORI H GUR i B | A 9N H 1Y TguUl s R0 grn ot SRRl ol dehleh]
HER g L & |

4 9IS A 9 Iy TGUU § HeUd FHEASA hl A= g FFHIH K 2
3R Ut S99 SAEYM S YRING Hd B | 39 T 9 I TR o HEIH 9
T STTEhdT HEIshA TTed id 8 | PCB &R 9 aIfvrey Ufdrsel o faem
3TN IT=R & Fafa femmeed, dfgar it Aniesie gfusw a9 #d & |
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32.

33.

34.

11-58/1/1 Page 25 P.T.O.

(a)  State any two problems faced by farmers during the initial years of
organic farming.

(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement.

(@) () “Under the liberalisation measures taken by the Government
of India, regulation of industrial sector was extremely
crucial.”

Reject or support the given statement with valid arguments.

(i) “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

OR

(b) (i) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii) State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.



N o A=A gRT d 91 TUET 1 Jodehd Hd & | aad H 3T
e Tat iy & mem @ TSy 9 o &FiYeR # oM ate Y
N w1 ag-aad W e, e iR i IcEs 7g Sdetsy UM <
TTedT ST faeeyor s < fT o6t 3 | 98 IEm-Ee fyRer 3§ TR HEsE %
fTq, 3TTavaeh Ja¥(H qUT aTg TurEdT 3iihe W J&H hidl 7 |

TGWUl A SIS S WWUl H HefUd debeilehl 3T WIfEdhl 3AThSI I
Gehetd, GUTe 3R faawor i § | 3 125 i (sud IwAfear ot i §), 3,
e, @rEt, e, o, e IR T80 B I 6l uradn S @ Hd B |

few M T 9 g FE % R W ffafga g % s e
(%) TH fordl QU HEl 1 Sooi@ HINY Tk HROT sheiid Jguor FRimr o1

(CPCB) <1 TT9aT bl 75 o |

(@) o yguu e §€ (CPCB) g by I ot fopedl @ sl h
ST HINT |

()  9Rd g 9 fashra giafeaa ® & o 39 18 fohdl g Wi
%1 FUMH HIT |
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting

and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.
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